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th A #E 5 e 320,000 0.9 320,000 0.9
MoF B X & £ 3,000 0.0 3,000 0.0
BB & B x f = 35,000 0.1 35,000 0.1
BXEBEFTRIAXSGE 20,000 0.1 20,000 0.1
EANE EB XM E 175,000 0.5 175,000 0.5
oA HBE BN E 1,909,000 5.4 1,909,000 5.4
JLI7SBAABIGTE 40,000 0.1 40,000 0.1
BEEEL LN 31,000 0.1 31,000 0.1
oA F OB X O £ 510,000 1.4 510,000 1.4
B A x i i 3,452,885 9.8 3,452,885 9.8
| RBREARBFINXMFE 13,000 0.1 13,000 0.1
L A ERUVEAEAS 182,125 05 182,125 05
j #F A 8 EUVTF #HH 497,474 1.4 497,474 14
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& Bt 4 350,000 1.0 350,000 10
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B 4 4 5,000 0.0 5,000 0.0
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b7 & b= 28,939 0.1 28,939 0.1
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B H ;] k= 1,653,264 4.7 1,653,264 4.7
£ B b= 4948309 140 4948309 140
X F #® 1B & 2 0.0 2 0.0
VN ®" b= 2,610,996 7.4 2,610,996 7.4
E 52 H & 9,263 0.0 9,263 0.0
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KETRTmBI BV THBEREAZITOTLS O AIREGHA—HLLGWMGEELAH S,




